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FHAERT 87 99 99 198|Fn HHT 218 188 169 357|FkET— T H 341 283 215 498 | KT 277 303 323 626
ARYHT 198 182 201 383 AT 12,486 11,518 12,366 23, 884|kkHT — T H 175 157 128 285 | K HEHT 693 826 898 1,724
JEHT 431 381 450 831 FERT=TH 119 134 137 271 KIEHX 3,773 4,259 4,453 8,712
T 756 756 777 1, 533| R ERT 237 243 256 499 [#KETIY T H 65 40 48 88
b BHT 384 373 395 768 [T 3,870/ 3,886 3,883 7,769 N4RHHX 10,206 10,025 9,904 19, 929|Fa] A HEHT 393 482 464 946
T 256 224 203 427 |Figfar BT 186 193 226 419 BT 265 342 365 707
)T 114 104 116 220’ FHIT 469 444 445 889 [Hr T 1,285 1,493 1, 468 2,961 |5 ET—T H 484 480 513 993
KAGHT 625 552 562 1, 114|JLAHT 3,738 3,840/ 4,023 7, 863|H{R M PR 359 387 422 809k LT — T H 226 221 250 471
BT 16 9 12 21| HRmT 3,574| 3,598 3,661  7,259|H)BHT 1,706 1,671 1,834) 3, 505[H/N AT 591 636 657 1,293
E= 201 82 68 74 142| & BEHT 624 608 617 1, 225| H T 1,181 1,355 1,291 2, 646|407 1,619 1,884 2,038 3,922
Fn T 212 202 234 436 i BT 1,381 1,457 1,561 3,018 HrmiaHix 4,531 4,906 5,015 9,921 m/\iEHHX 3,578 4,045 4, 287 8, 332
Aeimmy 118 76 83 159| KA 167 155 177 332
JUTREHT 187 201 226 427| HYERT 338 404 450 854 |2 HT 2,982 2,877 3,170 6,047 skHT 445 459 501 960
it 124 92 85 177 R ARET—TH 371 385 391 776 | K\ AKRET 1,271 1,289 1,243 2, 532 | FEIRFHT 310 343 338 681
AT 63 56 63 TI9[ERIT =T H 515 519 485 1, 004)/INJ\AHT 1,315 1,431 1,432) 2,863 & HTHNAT 720 741 783 1,524
THRIHET— T H 153 151 141 292 EIRIT="TH 505 549 537 1, 086 EA =T 478 547 568 1, 115| s rp BLHT 236 281 288 569
TRIEET =T H 118 134 122 256/ HERATIY T H 323 335 392 727|MERTPE— T H 65 53 34 87| & T 1,211 1,336 1,408 2,744
TRAHET =T H 120 111 112 223 FRHX 16,298 16,616 17,104 33, 720|M=AT 8 — T H 121 102 98 200 [ BT 772 910 917/ 1,827
TATHETY T A 144 149 160 309 R —TH 321 216 309 525( s thX 3,694 4,070 4,235 8, 305
TRIHETE T H 74 58 16 74| JE T 3,800/ 3,849 4,012  7,861|MHEIT T H 33 34 32 66
A FrHT 439 399 461 860 T — 1" H 283 330 352 682|FH AT =T H 34 17 28 45| Fr L BT 5,773| 6,083 6,295 12,378
FI4RAT 23 17 19 36| I T H 591 593 639 1, 232(ZHETIY T H 128 127 113 240 = JLRT 202 255 266 521
TTHT 176 167 193 360 @HT =T H 894 860 931 1, 791 | &L mT 1,973) 2,027 2,148 4,175 AREFHX 5,975/ 6,338 6,561 12,899
AT 30 21 24 45|32 mT 1, 565 1,555 1,664 3,219 HIHIX 8,721 8, 720 9,175 17,895
AT 176 144 172 316/ FeHfHAT 1,454 1,403 1,502 2,905 PN/ 400 400 451 851
ENINTE 505 463 515 978 ML AT HT 185 173 187 3604 FH-Ih{mT 464 411 551 9625t H 1T 549 633 641 1,274
YT 24 16 22 38\ TARET—T H 477 467 448 915 | Fli HY 2, 360 2,311 2,366| 4, 677|F5BFHT 653 767 733 1, 500
T 71 58 63 1R21P\VFRET =T H 370 333 387 720( KT 239 292 313 605 | 74 5 |] 157 156 158 314
HEAHT 39 39 46 85|\ FHET =T H 511 525 537 1, 062 5 T 979 953 984 1, 937|#KJ5UHT 655 746 768 1,514
[H T 367 286 332 618\ TARATIY T H 392 386 463 849 | HRERIT 541 614 622 1, 236| & M7 384 399 390 789
=1 159 149 162 311 Fri X 10,522 10,474 11,122 21, 596|H]E=H] 390 398 451 8497t [ 44 mT 573 661 680 1,341
ST 2L 623 585 604/ 1,189 NS0 2,395 2,706 2,732 5438 I X 3,371 3,762 3,821 7,583
LAl 25 29 23 52| P BpHT 2,457 2,515| 2,653 5, 168|#7HIAT 161 203 208 411
# LT 500 476 528 1,004 | BFEERT 41 39 47 86 J\iEHIX 7,529 7,888 8,227 16, 115 iy 282 361 365 726
i 24 30 25 55| b JEET 3,766 3,735 3,753 7,488 TR THT 163 195 205 400
RS RLET 196 167 175 342| AL HERT 340 342 395 737 E Ry 1,283 1,384 1,385 2, 769 T 7 HIAT 175 222 221 443
JEHT 160 157 149 306 2HT 686 674 695 1, 369 T [ |y 1,924) 2,049 2,128/ 4, 177| FigHT 429 503 514/ 1,017
AT 386 354 396 750 Y EFHT 1,476 1,781 1,757 3, 538 r i i T 806 816 913 1, 729" T 336 432 423 855
Eakiiy==tg 19 17 19 36| T ZIRHT 1,779 1,950 1,963 3, 913|ALALRHET 469 429 498 927 | V5 s =T 431 509 461 970
A AR HT 1,592 1,559 1,688  3,247| F kT 1,121 1,188 1,217)  2,405| [ Hhx 4,482 4,678 4,924 9, 602|/\iEEHT 392 457 492 949
R T 170 162 169 331 | Hr ik PamRT 405 432 441 873 i) 1 H X 2,208 2,679 2, 681 5, 360
gzl 136 122 149 271 PJEIT—T H 601 609 636 1, 245|HPmT 499 558 584 1,142
[l 162 134 155 289|TPEET T H 1,328 1, 180 1,384 2, 564 |45 Him] 485 575 587 1, 162(FMr = & 442 476 463 939
B oThT 188 167 218 385|PEHT =T H 623 640 694 1, 334|At8r i my 179 196 206 402 A AT HE 384 407 399 806
EN) 161 125 144 269|HEHETIY T H 689 658 722 1, 38047 /7M1 143 166 185 351| AR A 7E 186 192 193 385
JEATEAT 107 78 61 139 BFERT 1,031 1,037 1,078 2, 115|111 #] 1,222 1, 350 1,417 2, 67| AP K 110 121 134 255
N 347 370 406 776|Fi 2 iy 633 629 552 1, 181| a8 BT 385 438 491 929| A BHINT ) 117 319 314 332 646
L 217 169 206 375| A H X 16,976/ 17,409 17,987 35, 396|%& AT 438 501 494 995| AKX 1,441 1,510/ 1,521| 3,031
|11 FH T 104 89 95 184 Fldgmy 276 346 346 692
T 90 74 85 159| b/ EHT 806 843 899 1,742 REHIX 3,627 4,130) 4,310 8, 440 | FEHRMT V5 I = 713 782 849 1,631
PU 7 T 33 31 32 63| /N 487 570 615 1,185 FEYBIT 4 U 87 96 108 204
GaeLlE 37 33 34 67| LA FERT 3,003 2,903 2,720 5, 623 L RJHAT 1,304 1, 355 1,419 2, TTA|FEHRMTHA 2 IR 272 170 163 333
FEELIT 94 87 71 158| /N K HT 2,282 2,200 2,183 4, 38315 KIEMT 311 365 364 T29|FEABIT R 1,070 1,254 1,275 2,529
HAEHT 303 297 321 618| /T 1,512 1,524 1,508 3, 032 [ 4RIRrHT 723 897 901 1, 798| FEARMT HH = 441 488 512 1,000
FERAHT 323 281 304 585 | HLAHAT 1,416/ 1,371 1,451 2,822 FKJHAT 465 513 548 1, 061 FEAENT 2 1,478 1,635 1,694 3,329
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FEHRMT T 826 923 981 1, 904 & HHT /1M 146 186 192 378
FEYBIT 5 ] 348 437 435 872| & FHHT L1 261 297 296 593
BT 211 236 215 451| EH FHT AR 513 644 610, 1,254
BT 1L 158 181 202 383| AT 297 336 339 675
FEYBHT )1 431 471 501 972| & HHT i 610 736 704 1, 440
FEYBIT o B 6 4 5 9| & HMT K 421 517 514 1,031
FEYBHTFIARR 1,024 1,297 1,277 2, 574| HHT & 97 119 120 239
FEHBHT A5 1,926 2,059 2,236 4, 295 H-MT 31 39 39 78
FEHRHL X 8,991 10,033 10,453 20, 486 | HHTHI{R 303 366 363 729
E AT 227 175 215 390
Aty 3,844 4,453 4,639 9, 092 H-MT A 34 39 40 79
JEFHHET 1,702 1,913 2,011 3, 924[FH HMT KR 9 8 13 21
Ly 599 779 823 1, 602| HFHATZ L R 382 454 433 887
By 192 233 242 475 | EFEHTERIR 48 63 64 127
Filaduf 15 0T 315 330 338 668 | HHT A 152 168 171 339
N 145 160 174 334| EH T 159 193 193 386
% T FH AT 72 91 104 195| & M7/ R 366 423 424 847
S[E Sy HT 281 410 397 807 & HHHT A 116 149 141 290
TG[E 5y HT 242 316 309 625| & HHTE 194 219 206 425
Je sy 426 442 439 881 | HHT /N 213 257 253 510
TorE BT 3,622| 4,166 4,198 8, 364|dE RIS EE 591 676 679 1,355
AT 1,762 2,091 2,132 4, 223 E TR B — T H 342 378 370 748
= Sl 861 1,021 1,068 2,089 HMTEFEE T H 401 409 458 867
rhR T 1, 566 1,668 1,713 3, 381|HHMTFEHE =T H 301 407 389 796
T 1,416] 1,491 1,525 3, 016|& HMT 451k 347 372 401 773
v ELHT 494 586 614 1, 200| & HHT T BLF 93 113 116 229
R FH AT 648 819 802 1, 621 | & HMHT LB 125 163 145 308
JE T 571 646 683 1, 329| & FHHTH A 53 61 69 130
TG H X ,758) 21,615 22,211 43,826 HFHLX 10,044) 11,474 11,644 23,118
ST 705 5,767| 6,013 11,780
IR LIRS 705 5,767| 6,013 11,780
e HET 080| 1,191 1,221 2,412
P T 866 744 857/ 1,601
s T 471 509 504 1,013
e Ly 37 28 39 67
BT 34 26 37 63
R BT 403 538 543 1,081
T HELRLET 998/ 1,080 1,160 2,240
v L LT 746 850 888 1,738
R ELEET 021 1,126) 1,134 2,260
AGRHE] 892 1, 067 1,052 2,119
T 717 802 848 1, 650
FIE T 178 216 188 404
+ 3T 177 196 214 410
ERET 329 381 362 743
=Y A-RAT 102 97 104 201
AT 116 129 136 265
Hedn X 8,167 8, 980 9,287 18,267
E T I 667 706 732 1,438
T H 1, 190 1,233 1,312) 2,545
EFHH] T RAR 297 322 336 658
AT AR 1,058 1,246 1,307 2, 553 WA F 171,083 180,896/ 187,301 368,197




